BIL

MOTORSPORTS SHOCK ABSORBERS

Oval Track Valving Manual

Aftermarket & Motorsports Headquarters
14102 Stowe Drive

Poway, CA 92064-7147

858/386-5900, Fax: 858/386-5901
www.hilstein.com

TEIN

FOR "TAKE-APART" SHOCKS

Eastern Aftermarket & Motorsports
293 Timber Road

Mooresville, NC 28115-7868
704/663-7563

Fax: 704/663-7585

Part# 194000



INTRODUCTION

Bilstein is pleased to offer this Revalving Service Procedures Manual to teams running our
serviceable Bilstein gas pressure shock absorbers for oval track racing.

This manual has been prepared to assist teams in achieving the proper Bilstein shock valvings
to fit the requirements of their specific type of car and racing series. By simply following the
procedures in this manual, Bilstein racing shock revalving may be performed at the track during
test sessions or in pre-race practice.

This manual contains the step-by-step procedures on how to disassemble, revalve and
reassemble serviceable Bilstein racing shock as well as identifying and describing the various
component parts within Bilstein shocks. This manual has been designed to coincide with the
Bilstein Motorsports Catalog for oval track racing which contains our recommended compres-
sion and rebound shock valvings for the various tracks and racing surfaces. After a valving has
been determined, this manual shows you how to build the desired internal valve stack for these
specifications.

Because Bilstein shocks are gas pressurized, it is imperative that the step-by-step instructions
be followed exactly to prevent any risk of injury during pressurizing.

If you have any questions regarding the procedures outlined in this manual contact your Bilstein
area field representative or call the Bilstein Motorsports Services Department at 800/537-1085.

We appreciate your good judgement in running the proven reliability and fade free performance

of Bilstein shocks, and we wish you the best of luck during the season.

Bilstein Motorsports

For Complete Information Contact:

Aftermarket & Motorsports Headquarters Eastern Aftermarket & Motorsports
14102 Stowe Drive 293 Timber Road

Poway, CA 92064-7147 Mooresville, NC 28115-7868
858/386-5900 704/663-7563



Page 1
Page 2
Pages 3-10

Pages 11-15

Pages 16-18

Pages 19-21

Pages 22-24

Pages 25-27

Pages 28-33

Pages 34-77

Pages 78

TABLE OF CONTENTS

Introduction
Table Of Contents
Component Descriptions

Circlip Type -
Disassembly, Revalving, Assembly Procedures

Threaded Rod Guide Type -
Disassembly, Revalving, Assembly Procedures

Large Nitrogen Compartment Series -
Disassembly, Revalving, Assembly Procedures

Rebuildable-Revalvable Series -
Disassembly, Revalving, Assembly Procedures

Econo Aluminum Series (ATAD/ATAL Type) -
Disassembly, Revalving, Assembly Procedures

Short Track (Linear & Digressive) Valving
Specifications

GN Revalving Specifications

Oil Volume For Motorsports Shocks



| I o bl

rebound side compression side

LINEAR B4B6-U148T
rebound side compression side
'//// Tllllll”',’

LINEAR

B46-U37T

== ros - eS|
(both sides identical)
=
DIGRESSIVE

B46-698A

PISTON IDENTIFICATION & ORIENTATION




a|p|d Jauul

(joes I8jnN0) |0as agn)

9a%e%e %t

|o8s pol

N ==t
£

opnb pol

@
/

A

A1gW3SSY 1v3S / 3dIND dod




ONE-PIECE ROD GUIDE

_J_m~\
LV




3QIND O NOLLYHIANID QHE 8 N2 \E S
990€E6l
\% [T

222895

899L27 95951

_
|
2 I\ “
; .\.c,m.‘ A_ L9y
0z€0Ey — |
1
_

A

L97€Z7
(s>o0ys [99]S) EOOEGL T
(S>00ys wNuWNy)  LY7LEBL \
|
L T




OlL SIDE

=

Y=

GAS

oL

SIDE

SIDE

GAS

1
SIDE

DIVIDING PISTON
INDENTIFICATION & ORIENTATION




e

ww G0 AQ Jejewoip OSp |xeu BSDBIBP ', 4EXLZ. 40) LOEXLZ. BINISANS OL
ww g Aq Jejewop 9sip |xeu 3SDBIOU ', JEXLZ, 10) .JEXLZ. BINNSANS OL

SMOJJ0j SD JBYJOUD BUO 10) PBINJISGNS 8q UDd ,JEXLZ, PUD ,JEXLZ. -J1ON

«JEXLZ, JEXLZ,

QEX|¢g B d€X1¢
SHIHSYM 1dOddNS




BYPASS ORIFICE PLATES

(4Bmm slandard shocks)

bypass
part number | thickness (mm) area (mm 2)
B46-742A1 0.15 0.8
B46-742B1 0.20 12
B46-742C1 0.25 15
bypass
part number | thickness (mm) area (mm?)
B46-743A1 0.15 18
B46-743B1 0.20 2.4
B46-743C1 0.25 3.0
bypass
pari number |thickness (mm) area (mm?)
B46-744A1 0.15 38
B46-744B1 0.20 4.8
B46-744C1 0.25 6.0

ausrsm'%
(]




10

BYPASS ORIFICE PLATES

(46mm adjustable shocks)

: bypass

part number |lhickness (mm) area (mm ?)
B46-743A2 0.15 1.8
B46-743B2 0.20 2.4
B46-742C2 0.25 3.0
bypass

parl number |thickness (mm) area (mm ?)
B4B-744A2 0.15 36
B46-744B2 0.20 4.8
B46-744C2 0.25 6.0

mmsm'&@
=




Disassembly
Revalving
and
Assembly
Procedures



12

Circlip Type - bisassemBLY PROCEDURES

Release all gas pressure from the shock through the
Schrader valve.

enough to expose the outer snap ring.

Remove the rod guide, rod seal, tube seal and support
plate. Then remove the inner snap ring, taking care not
to scratch the tube bore.

2. Fit the Bilstein clamp tool over the shock body and
tighten the clamp bolt.

4. Recheck that all gas pressure has been released
through the Schrader valve. Then remove the outer
snap ring and gradually back off both nuts until there is
no tension on the clamp head. Loosen the clamp bolt
and remove the clamp tool from the shock.

6. Slowly pull the piston rod, with piston and valves
upwards, out of the shock body. Pour the fluid into a
clean beaker (Part #193020). If needed, discard used
fluid and replace with new Bilstein shock oil.



Circlip Type - RevaLVING PROCEDURES

1. Hold piston rod, with piston upwards, tightly in a vise 2. Remove and discard the M8 x 1 hex nut. Then remove
equipped with soft jaws suitable for holding the 14 mm the piston and discard all valve parts.
(0.55") diameter piston rod.

3. Chase the threads on the piston rod using an M8 x 1 die 4. Assemble the new valve components and piston onto
(Part #193050). Remove any metal fragments from the the piston rod tenon, referring to the appropriate valving
rod tenon. sheet (For example: 480/160D DIGRESSIVE).

5. Install a new hex nut and tighten to specification on valv- 6. Using a punch with pointed end, stake the rod end in at
ing sheet. least two places to prevent the nut from coming loose.

13



Circlip Type - assemBLY PROCEDURES

1. Lubricate the tube bore with a small amount of shock 2. Insert the piston rod with piston and valves into the tube.
fiuid, and insert the dividing piston (see diagram for cor- Install the inner snap ring into its groove.
rect orientation). With a brass rod, drive the dividing
piston into the tube to a depth of 260mm (10.25") from the
top of the tube (For Winston Cup shocks). Vent air pres-
sure through the fill valve while pushing the piston into the
tube or remove the valve core.

et e ST

/

C

3. Measure the correct amount of fluid (320 ml for Winston 4, Place the inner plate squarely into the tube so that it rests
Cup shocks) in the beaker (Part #193020), and pour into on the snap ring.
the shock tube. DO NOT OVERFILL THE SHOCK.

5. Setthe large tube seal disc into the tube against the plate. 6. Carefully guide the rod seal down over the rod so that it
Make sure the seal rests fully against the plate around the seats into the tube seal disc. Push the rod guide down
outside edge. onto the seals by hand.

(more)

14



Circlip Type - assemBLY PROCEDURES
Continued

7. Install the clamp tool onto the shock and tighten the clamp 8.  Install the outer snap ring making sure it is fully seated

" bolt. Tighten the two nuts evenly to compress the guide in its groove. Back off the two nuts on the clamp tool to
enough to allow the outer snap ring to be installed. approximately 6 mm (1/4"). Do not remove the tool

yet.

9. Install gasiling tool (Part #193000) onto the Schrader  10. Recheck that the snap ring is seated properly, and if it is,
valve and apply nitrogen gas to the shock (180 psi mini- remove the clamp tool.
mum).

11. Install the travel indicator, jam, nut, thread adhesive and
the heim end if removed during disassembly.

15



Threaded Rod Guide Type - bisassemBLY PROCEDURES

T
:
¥

5

.

2

$

A%

1. With the tube end heim mount held in a soft jaw vice, 2. Keeping the shock body in the same position, remove the rod
release all gas pressure from the shock through the guide nut, where the piston rod enters the shock tube,
using the uni-directional Bilstein wrench (Part #193070).

Schrader valve.

4. Pour the shock oil from the tube into a clean beaker

3. Slowly pull the piston rod, with rod guide assembly and { )
piston head assembly, out of the shock tube. (Part #193020). If needed, discard the used fluid and
replace it with new Bilstein shock oil.

16



Threaded Rod Guide Type - revaLviNG PROCEDURES

1. Secure the piston rod end mount, with the piston upward, 2 Remove the nylock nut holding the piston assembly
into a conventional vice (or use a vice equipped with soft together. This will allow the valving discs on top of the
jaws suitable for holding the 14mm (0.55") diameter pis- piston head assembly to be removed.
ton rod). The moveable travel indicator will be located
between the rod mount and threaded rod guide assembly.

AATSeaasatscasessasasts st sstmaszassas

3. Ifno nylock nut is used, you have the option of chasing 4. Assemble the new valve components and piston onto
the threads on the piston rod using a M8 X | die (Part the piston rod tenon, referring to the appropriate valving

#193050). No chasing is required with the nylock nut. sheet (For example: 480/160D DIGRESSIVE).

5. Reattach the nylock nut and torque to the specifications
noted on the valving sheet in the manual.

17



Threaded Rod Guide Type - assemBLY PROCEDURES

1. Ifthe dividing piston was removed during revalving, insert
the dividing piston into the shock tube and push it to the
bottom using a wooden or brass rod.

3. Insertthe revalved piston head assembly and valve guide
assembly into the shock tube carefully so there is no fluid
overflow.

5. Reposition the shock in the vice and attach the gas-filling
tool (Part #193000) onto the Schrader valve. Apply
nitrogen gas to the shock (180 psi minimum).

18

Measure the correct amount of fluid (320ml for Winston
Cup/Busch GN and 8" travel shocks) in the beaker
(Part #193020) and pour it into the shock tube. DO NOT
OVERFILL THE SHOCK.

Tighten the rod guide nut securely to the shock tube using
the uni—directional Bilstein wrench (part # 193070).



Large Nitrogen Compartment Series - bisassemsLY PROCEDURES

1, With the tube end heim mount held in a soft jaw vice, 2. Keeping the shock body in the same position, remove the rod
" release all gas pressure from the shock through the guide nut, where the piston rod enters the shock tube,
Schrader valve. using the uni-directional Bilstein wrench (Part #193070).

. Slowly pull the piston rod, with rod guide assembly and 4. Pour the shock oil from the tube into a clean beaker
piston head assembly’ out of the shock tube. (Part #1 93020). If nEEded, discard the used fluid and

replace it with new Bilstein shock oil.

19



Large Nitrogen Compartment Series - RevaLvinG PROCEDURES

- = %
£ Rl 2

1. Securethe piston rod end mount, with the piston upward, into 2. Remove the nylock nut holding the piston assembly
a conventional vice (or use a vice equipped with soft jaws together. This will allow the valving discs on top of the
suitable for holding the 14mm (0.55") diameter piston piston head assembly to be removed.

rod). The moveable travel indicator will be located

between the rod mount and threaded rod guide assembly.

3. Remove and discard the M8X1 nylock nut. Then remove 4. Assemble the new valve components and piston onto
the piston rod tenon, referring to the appropriate valving

the piston and discard all valve parts.
sheet (For example: 480/160D DIGRESSIVE).

5. Reattach the nylock nut and torque to the specifications
noted on the valving sheet in the manual.

20



Large Nitrogen Compartment Series - AssemBLY PROCEDURES

2. Measure the correct amount of fluid (390ml for Winston

insert the dividing piston into the large nitrogen separator Cup/Busch Series 8" travel shocks) in the beaker
chamber and push it to the bottom using a wooden or (Part #193020) and pour it into the shock tube, DO

brass rod. NOT OVERFILL THE SHOCK.

If the dividing piston was removed during revalving,

Tighten the rod guide nut securely to the shock tube

3. Insert the revalved piston head assembly and valve guide 4. ) a
assembly into the shock tube carefully so there is no fluid using the Bilstein wrench. DO NOT OVER TIGHTEN.

overflow.

5. Reposition the shock in the vice and attach the gas-filling
tool (Part#193000) onto the Schrader valve. Then apply
nitrogen gas to the shock (180 psi minimum).

21



22

Rebuildable-Revalvable Series - pisassemMBLY PROCEDURES

Using your fingers, depress the rod guide away from the

1. Release all gas pressure from the shock through the 2.
upper snap ring.

Schrader valve.

4. Using the Bilstein disassembly collar (Part #193343) as

3. Using Bilstein picks (Part #193040), remove the upper ; :
snap ring. a fulcrum point, pry the rod guide out of the tube using
two flat-bladed screw drivers. NOTE: Do not use exces-
sive force.

5. Remove the lower snap ring, taking care not to scratch 6. Slowly pull the piston rod, with piston and valves
upwards, out of the shock body. Pour the fluid into a

the tube bore.
clean beaker (Part #193020). If needed, discard the
used fluid and replace it with new Bilstein shock oil.



Rebuildable-Revalvable Series - rRevaLvING PROCEDURES

1. Remove the nylock nut holding the piston assembly 2. Remove the valve stack from the shaft and retum it to its
together. slot in your valving kit.

i
|
il

3. Assemble the new valve components (chosen from 4. Install a new hex nut and tighten to specification on the
the valving kit) onto the rod tenon. Always check ori- valving sheet.
entation of plates against the valvings provided in
this manual.

23



24

Rebuildable-Revalvable Series - assemBLY PROCEDURES

1. Insert the piston rod with piston and valves into the tube. 2. Installthe lower snap ring into its groove inside the bore.

3. Measure the correct amount of fluid (See spec sheetin 4. Using your fingers, depress the rod guide down onto the
binder) in the beaker (Part #193020), and pour it into the lower snap ring.
shock tube. DO NOT OVERFILL THE SHOCK.

5. Install the upper snap ring. 6. Install the gas-filling tool (Part #193000) onto the
Schrader valve, and apply nitrogen gas to the shock
(180 psi minimum).



Econo Aluminum Series (ATAD/ATAL Type) - DISASSEMBLY PROCEDURES

2 Using your fingers, depress the rod guide away from the

1. Release all gas pressure from the shock through the
upper snap ring.

Schrader valve.

3. Using Bilstein picks (Part #193040), remove the upper 4. Using the Bilstein disassembly collar (Part #193343) as
a fulcrum point, pry the rod guide out of the tube using

snap ring. !
two flat-bladed screw drivers. NOTE: Do not use exces-
sive force.

5. Remove the lower snap ring, taking care not to scratch 6. Slowly pull the piston rod, with piston and valves
upwards, out of the shock body. Pour the fluid into a

the tube bore.
clean beaker (Part #193020). If needed, discard the
used fluid and replace it with new Bilstein shock oil.

25



26

Econo Aluminum Series (ATAD/ATAL Type) - REVALVING PROCEDURES

1. Remove the nylock nut holding the piston assembly 2. Remove the valve stack from the shaft and retum it to its
together. slot in your valving kit. ‘

3. Assemble the new valve components (chosen from 4. Install a new hex nut and tighten to specification on the
the valving kit) onto the rod tenon. Always check ori- valving sheet.
entation of plates against the valvings provided in
this manual.



Econo Aluminum Series (ATAD/ATAL Type) - ASSEMBLY PROCEDURES

1. Insert the piston rod with piston and valves into the tube. 2.  Install the lower snap ring into its groove inside the bore.

3. Measure the correct amount of fluid (See spec sheetin 4. Using your fingers, depress the rod guide down onto the
binder) in the beaker (Part #193020), and pour it into the lower snap ring.
shock tube. DO NOT OVERFILL THE SHOCK.

5. Install the upper snap ring. 6. Install the gasfiling tool (Part #193000) onto the
Schrader valve and apply nitrogen gas to the shock
(180 psi minimum).

27



Short Track
Linear & Digressive
Valving Specifications



VALVING: (LINEAR)

(rounded side away from piston)

M8x1 hex nut tignten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0
| x _0.50
20 X
o 24 X
%] 30 «x
O I __ _— =
a 36.4 x
(1

(see drawings for
i correct orientation)

X

24 X

>4
w \ 20 x
x 0.50
{rounded side away from pision)

B46-22 (325 x 2.5)

COMPRESSION
8 |

piston rod

All disc sizes are in milimelers

example:
“30 x 0.30" is 30mm diameter, 0.30mm thick




2ec-9v8
0S X8l
0¥ X 02
GEXVC
GEX0E
or X y'oe
lzen-ovd
oF X ¥'9E
oy X0E
0e X¥ye
oexo0e
oS Xel
deX e

«Na 0817002

¢covd
0g X g9l
GeEX0C
oe X2
0EX0E
GZXy'ee
1en-9vd
OF X ¥'9€
geXxoe
GEX VT
0ex0¢
0S Xl
d€x12

w3 06/0L2

ce-obd
0s X8l
orx0¢
0EX V2
0EX0E
0EX p'9E
oLxglL
Len-ovd
ogXxpge
oeXxoe
GEX T
o X 02
05 X9l
d€X 12

«Su 001/0€2

cc-ove
0SXG'LL
oF X 02
SEXVC
0EX0E
0EX P'OE
1en-9v8
GEXP'oe
GEX0E
geEXPe
gexoe
05 XSvl
deXx1e

«Qu 021022

¢2-9v8
0S X Li
oy x0¢
SEXPC
0EX0E
GZXp'eE
1en-9vd
0E X p'9e
geXxoe
SEXpe
SeXx02
0SXGElL
dEX1¢C

«a 021/081

ce-ovd
0Ss X gl
0¢x0c¢
ogxpe
0z x0ge
0Z X ¥'SE
oLx8lL
L1.en-evd
0E X ¥'9E
0E X 0E
0EX e
SZX02
oS X€gl
deX e

-o- mmaw —-

SDHUIAJEA J8aul'] Yoel] [eAQ

ce-ovd
0s X 02
05 X 0T
0E X ¥C
GZX0E
GTXP'9E
oLx8lL
Llen-ovd
0E X ¥'9E
0e X 0€
SEXVT
geX0e
0S XSl
E 1R 4

1. §6/081

ce-ove
05 x0¢
0S X 02
0E X e
0ZX0€
0CX¥'9E
0L X8l
1.en-9vd
GZX p'9E
0e X 0e
GEXPVC
o x0¢C
0S X Gl
d€X 12

w8 2L/802

zc-9ve
05X 0¢
0G X 02
GZXye
GZX0E
0C X p'SE
len-9vd
Gy X p'oE
GEX0E
GEXYC
SeEX0C
05 X Gl
4€X 12

wH. 00L/00€

ccovd
0 x g8l
O X 02
0EX e
GZX0E
0Z X '9E
oL x8l
1/.en-ovd
0EX¥'9E
oeX0e
GEXPT
Ov x0¢
0S5 X 9L
d€X 12

wV. 8L/0E2

30



VALVING:

REBOUND

COMPRESSION

Yy

(

x 0.50

(DIGRESSIVE)

(rounded side away from piston)

M8x1 hex nutl: tighten 1o 17.5Nm (150 - 155 Ib/in)

21 X 30

B46-

—_— 28 x

B46-699A

£

-

x 0.50
x 0.50

B46-

(rounded side away from piston)

B46-22 (325 x 2.5)

piston rod

All dsc sizes are in milimelers

example:
"36 x 050" is 36mm dameter, 0.50mm thick

31



¢c-ovd
0S'0X61
0S'0X61
GE'0X9E
LOEv.L-9v8
§SL'0%x82
v669-9v8
0zoxge
LOEVL-9v8
Ge'0Xx9e
0S0XS6L
JEX LT

w9555,

ce-ovd
0s'0x .1
0s'0x LL
GZ'0X9e
LOvp -9
Gz0x8C
v669-9rd
02'0x8¢
L8vy.L-ovd
or'0X9€E
0S'0XG'8L
JEXLE

«010b.,

cc-ove

0S'0XGl
050xGi
GE'0XGE
laev.-ova
gL'0Xx8e
¥669-9rd
oLoxge
bvev.l-ovd
0S'0X9€
05'0X9l
oeX e

«0v08.

ce-ov8
050X /L
0S'0X .l
GE'0XgE
LOEY.L-9vd
02°0x8C
v669-9v4
0z0Xx82
10ey.-9vd
OF'0XoE
0s'0X0C
2eXx e

uw0v09.

ceovd
05'0X6l
05'0%X6l
oF'0X9E
LOEV.-9v8
02'0X8¢
v669-9v8
02'0X8¢
\avv.-9v8
GE'0XOE
050X LL
2QdEX LT

w0S0¢€.

[442°14°
05'0X5'8L
0S'0XG8l

OF'0XSE
(ROTAZR 4
0L'0X8¢
v669-9v8
Sl'oXg8e
10Cr.-9v8
0E'0X0E
0s'0Xg'8l
oEX 1T

w0488,

[A4®) 4%
0S'0XS¥l
0S'0XS'vl

0S'0X8E

0L'0x8¢

v669-9v8
Sh'0x8c
Lay¥.-9v8
GZ'0Xge

0S'0X ¥l

oEX1e

w0604,

Ze-ovd
0s'0x8lL
0s0x8l
GE0XoE

1o2v.-9vd
0L'0x82
v669-9v4
GLo' X 82
LOcv.-9v8
GE'0X09E
0s'0x8l
Joex e

w5908,

ceove
0S'0X6l
05'0X 61
SP'0Xg8E
1OEvr.-9v8
02'0x8¢
v669-9v8
02'0X82
Lavv.l-9v8a
GE'OX9E
050X LL
JdEX1LC

«090€.,

¢c-ovd
050X /L
050X Ll
Or'oXge
Lavv.-ovd
0e'0x8c
v669-9v4d
0e0x8c
Lavy/-ovd
Ov'0OXgE
0s'0xg8l
05'0x5'8L
2EX LT

«0E0E.,

zeovd
0S0XG'LL
0S0XG'LL
Sr'oX9oe
LObiL-9bd
geoxec
v669-9v8
02'0X8¢
L8vy.-9v8
GE'0XGE
050X LL
odEX LE

u0V0E.

¢e-ovd
0S'0XG'LL
05'0XG'LL
OP'0X9E
1Oy .-ov8
gcoxsc
v669-974
0e'0X82
Lavvi-ovd
Ge'0Xx0¢e
05'0%xg'8lL
oex e

-onmn:

32



¢e-ovd
0S'0X6l
050X6L
0E'0X9€E
Iy L-9b8
TR T4
v669-9vd
oL'oxge
IWZrL-9vd
050XgE
05'0X59l
JEXLC

w0E0L.

2e-ovd
0S0X6l
0S0X6L
Sh'oxge
1 OEy.-9vd
0Z'0X8¢C
¥669-974
02'0x8C
LOEv.-9vd
SP'0Xge
0S0X0¢
J2eX e

=°w°h=

ce-ovd
0S'0XG'LL
0S'0XG'LL
SP'0X9E
1OV L-9vd
G2'0X8¢
v669-9v4
0z'0x8c
L8y /-9vd
Or'0X9€E
0s'0xg'8lL
oEX e

:oeov "

ze-ovd
0S'0X6L
0S'0X6L
GE'0X9E
LOev.-9ve
SL'ox8e
v669-9v8
02'0X8¢
Lavv.l-ove
0y'0X9E
0S'0XG'8lL
JEXLC

«§95V.

2covd
050X 6l
05'0x6lL
OF'0Xg9E
10ev/-9v8
02'0X82
v669-9v8
0£'0X8cC
LoV L-ov8E
SP'oxgE
050X 6l
oexie

w0505,

Zc-ovd
05'0XG'LL
0S'0XG'LL

ge'oxge
LoV .L-9vd
Gz0x8e
v669-9v8
02'0X8¢
LOevL-ovd
oP'0Xge
05'0X0¢C

JEX LC

u0€05.

U0 SDUIAJEA oAISSaablg

ceovd
0S'0X8lL
0s0X8l
SP'0X9E
LOvrL-9v8
gec0xg8e
v669-9¢4
02'0X8¢
LavyL-oF8
OP'0X9E
050X LI

Jexlie

wSPSE.

ceovd
05'0xS'8L
0s'0X5'8l
050X 9E
1 OEv.L-9va
0Z'0%x82
v669-9v8
02'0X8¢
laev.-ovg
050" X 9€
0s'0X02
Joex e

20908,

c¢e-ovd
0s0Xx.LL
050X LL
or'oxge
LOeY/-9v8
Sl'oxge
v669-9v4
gz’0Xx8¢
}OevL-9v8
09°0XgE
0S'0x9l
JoeEXlLe

«SY0L.

ccovd
0S'0X i
050x .1
GC'0X9E
LoV .-9v8
TR 14
v669-9vd
02'0X8¢C
10ev.L-9v8H
or'oX9e
050X 02
oexX e

«0109.

¢covsg
0G'0X6l
050%X6L
0P'0X9E
LOEV.-9vd
02'0X8¢
v669-9v8
0z0x8c
1OEY.L-Ov8H
or'oxge
0S'0X0¢
oeXie

«0909,,

ce-ovd
05'0X LI
050X L
GE'0XOE
L Ovv.-9v8
GZ'0X8e
v669-974
02'0x8¢C
LOEY.L-OvE
0F'0X9g
05'0X0¢C
oexie

w0209,



GN
Revalving
Specifications



230/100 (LINEAR)

M8x1 hex nut lighten to 145 Nm (125-130 Ib/in)

21 x 3.0 (flat side loward piston)

13 x 0.50
20 x 0.35

24 x 0.35

37.4 x 0.30

VALVING:
=)
s
D |
O
@
|
@
o
)
")
m l
14
o
5
o

BII.STEH:E::%

-
|
\—
\: 24 x 030
\ 20 x 0.30
13 x 0.50

B4B-U37T (see drawings for correct orienlation)

37.4 x 0.30
30 x 0.30

B46-22 (flat side toward piston)

piston rod

All disc sizes are n milmeters

example:
*30 x 0.30" is 30mm diameler, 0.30mm inhick

35



36

VALVING:

REBOUND

275/10 (LINEAR)

MBx1 hex nui: lighlen 1o 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat side toward piston)

13 x 0.50
20 x 0.35

| 24 x 0.35

B46-U37T (see drawings for correci orentaton)

COMPRESSION

37.4 x 0.30

{—/— 37.4 x 035
1
\—

30 x 0.30
24 x 0.35

20 x 0.35
13 x 0.50

B46-22 (flal side toward piston)

pision rod

All disc sizes are in milimelers

example:
*30 x 0.30" s 30mm diometer, 0.30mm thick




VALVING:

REBOUND

300/150 (LINEAR)

| 20 x 0.40
/ 30 x 035

| MB8x1 hex nul: lighten 1o 14.5 Nm (125-130 Ib/in)
[ ,j/v 21 x 3.0 (flat side toward pision)

13 x 0.50

374 x 0.35

COMPRESSION

susmu'%

B46-U37T (see drawings for correct orieniation)

37.4 x 0.40

—\—\ 30 x 0.40

\ 20 x 0.40
13 x 0.50

B46-22 (flal side toward pision)

piston rod

All disc sizes are in miimeters

example:
*30 x 0.30° 15 30mm diameter, 0.30mm fthick

37



38

VALVING:

REBOUND

325/110 (LINEAR)

M8x1 hex nut: fighten to 145 Nm (125-130 Ib/in)
|
|4j/ 21 x 3.0 (flat side loward piston)

13 x 050

\ 20 x 0.35

24 x 035

I /— 30 x 040
-

37.4 x 0.40

|

B46-U37T (see drawings for correci onentaiion)

i

COMPRESSION

n
|
)
]

I

37.4 x 030
30 x 0.30

e 24 x 0.35
20 x 0.35
13 x 050

B46-22 (flal side toward piston)

/

piston rod

9__.

All disc sizes are In milimeters

example:
*30 x 0.30" s 30mm diameier, 0.30mm thick




VALVING:

REBOUND

325/125 (LINEAR)

M8x1 hex nut fighten o 145 Nm (125-130 lb/in)

21 x 3.0 (flal side loward piston)
13 x 0.50
20 x 0.35
24 x 0.35

37.4 x 0.40

B46-U37T (see drawngs for correct orientation)

/— 30 x 0.40
/
]
\—

COMPRESSION

i

- @

37.4 x 0.35

30 x 0.35

20 x 0.35
13 x 0.50

B46-22 (flal side loward piston)

piston rod

All disc sizes are in milimeters

example:
"30 x 0.30° s 30mm dameter. 0.30mm thick

39



40

VALVING:

345/135 (LINEAR)

M8x1 hex nul: fighten to 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat sde toward pision)

13 x 0.50
20 x 0.40

24 x 040
__4_/-/— 30 x 0.40

37.4 x 0.40

REBOUND

B46-U37T (see drawings for correct onentation)

é
]
5

37.4 x 040
30 x 0.40

) v 24 x 0.35

B46-22 (flal side toward piston)

\ 20 x 035
13 x 0.50

pision rod

All disc sizes are n milmeters

example:
*30 x 0.30" is 30mm dameter, 0.30mm thick




VALVING:

350/160 (LINEAR)

MB8x1 hex nut tighten lo 14.5 Nm (125-130 lo/in)

21 x 3.0 (flat side loward pision)

13 x 050
20 x 0.40

37.4 x 0.40

REBOUND

B46-U37T (see drawings for correct orientation)

COMPRESSION

mm..:

|
|,
|
|
24 x 040
J 30 x 0.40
- —
]
R

37.4 x 0.40

—\_\— 30 x 0.40
——

24 x 0.45

\_ 20 x 0.45
13 x 0.50

B46-22 (flat side foward piston)

piston rod

All disc sizes are in milmelers

example:
30 x 0.30" s 30mm diameter, 0.30mm thick

41



42

VALVING:

REBOUND

380/160 (LINEAR)

M8x1 hex nul: lighten to 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flal side toward piston)

13 x 0.50
20 x 0.45

24 x 0.45
__‘__z— 30 x 040

37.4 x 0.40

COMPRESSION

BILSTEIN (Sl

B46-U37T (see drawings for correct orientaiion)

37.4 x 0.40
30 x 0.40
— 24 x 0.45

\ 20 x 0.45
13 x 050

ﬁg,____

B46-22 (flal side toward piston)

pision rod

All dsc sizes are in millmelers

example:
*30 x 0.30° 15 30mm dameier, 0.30mm thick




VALVING: 390/150 (LINEAR)

M8x1 hex nut: tighten to 14.5 Nm (125-130 lo/in}

21 x 3.0 (flat side toward pision)

|
|
| 13 x 050
|

20 x 0.45
% 24 x 0.45
=, l 30 x 0.40
O /—_
o l ~  ___—— 37.4 % 040
(' 1

L 1
B46-U37T (see drawings for correct orientation)

& : T 37.4 x 0.40
n em— \__
m ECTCET—
% k \ 24 x 0.40
Q
5 \—

20 x 0.40
13 x 0.50

B46-22 (flal side loward piston)

\ "

/

All disc sizes are in milmelers

example:
30 x 0.30" is 30mm dameter, 0.30mm thick




390/180 (LINEAR)

VALVING:
o
Z
=
@
m
L
14

M8x1 hex nul: tighten io 14.5 Nm (125-130 [b/in)

21 x 3.0 (flat sde toward piston)
13 x 0.50
20 x 0.45
24 x 0.45

///////»——-30x 0.40

~ —— 374 x 040

COMPRESSION

it
i

l
e, e
""*'_"\::::::::::: 30 x 0.45
—

\ 20 x 0.40
13 x 0.50

B46-U37T (see drawings for correct onentation)

37.4 x 0.45

24 x 0.40

B46-22 (flat side toward piston)

piston rod

All disc sizes are In milmeters

example:
“30 x 0.30" s 30mm dameter, 0.30mm thick




VALVING: 400/160 (LINEAR)

M8x1 hex nut tighten to 14.5 Nm (125-130 lb/in)

|
[ & 21 x 3.0 (flat side toward piston)

| 13 x 0.50

| 20 x 050
% 24 x 0.45
=2 \ | /— 30 x 0.40
O 1
0 . ~  __—— 374 x 040
o ]

; i

| B4B-U37T (see drawings for correcl orientation;
5 ! T 374 x 0.40
m \_
m —K
% — - 24 x 0.45
o

\_ 20 x 0.45
13 x 0.50

‘ B46-22 (flal side toward piston)

pision rod

All disc sizes are n milmeters

example:
*30 x 0.30" s 30mm diameter, 0.30mm thick

4




46

420/160 (LINEAR)

M8x1 hex nul: lighten o 14.5 Nm (125-130 lb/in)

21 x 3.0 (fiat side loward piston)

!
l
‘ 13 x 0.50
| 20 x 0.40

24 x 0.40
30 x 0.45

VALVING:
)
Z
>
@)
@
L
14

B46-U37T (see drawings for correct orieniaiion)

COMPRESSION

48 4+ —}-} -3

{_/— 37.4 x 0.45
i |
e

37.4 x 0.40
30 x 0.40
e 8 24 x 045
\ 20 x 0.45
13 x 050

B46-22 (flat side toward piston)

/

pision rod

All disc sizes are in milimeters

example:
*30 x 0.30° is 30mm diameter. 0.30mm thick




VALVING:

420/180 (LINEAR)

M8x1 hex nul: lighten fo 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat sde toward pision)
13 x 050
20 x 0.40
24 x 0.40

30 x 045

37.4 x 0.45

REBOUND

B46-U37T (see drawings for correct oneniation)

COMPRESSION

37.4 x 0.45

24 x 0.40

-

Sl
\—
—% 30 x 0.45

-T\

i

20 x 0.40
13 x 0.50

B46-22 (flal side loward piston)

piston rod

All disc sizes are in milimelers

example:
30 x 0.30° is 30mm diameier. 0.30mm thick

47



48

VALVING:

420/205 (LINEAR)

M8x1 hex nul: lighten to 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flal side loward piston)

13 x 0.50
20 x 0.40

| 24 % 0.40

REBOUND

B46-U37T (see drawings for correct orientaticn)

COMPRESSION

37.4 x 0.45

{—’— 37.4 x 045
1
B

30 x 0.45

24 x 0.45

\ 20 x 045
13 x 050

B46-22 (flal side toward piston)

piston rod

All disc sizes are in milimelers

example:
"30 x 0.30° s 30mm diameter., 0.30mm thick




VALVING:

480/160 (LINEAR)

M8x1 hex nul: lighten lo 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat side toward piston)

13 x 0.50
20 x 0.45

— 24 x 045
__u._;— 30 x 0.45

REBOUND

374 x 045

5
(2]
72
LL
o
o
=
(@
o

B46-U37T (see drawings for correct orientaton)

37.4 x 0.40
30 x 040
24 x 0.45

20 x 0.45
13 x 050

B46-22 (flal side toward piston)

pision rod

All disc sizes are in milimelters

example:
*30 x 0.30" s 30mm diameter, 0 30mm thick

49



50

VALVING:

REBOUND

480/180 (LINEAR)

MB8x1 hex nut: lighien lo 14.5 Nm (125-130 Ib/in)

[ 21 x 3.0 (flat side loward pision)

13 x 0.50
20 x 0.45

24 x 045

/— 30 x 0.45

B46-U37T (see drawings for correct orieniation)

COMPRESSION

/)

|
\—
\— 30 x 0.45

37.4 x 0.45
— 24 x 0.40

20 x 0.40
13 x 050

B46-22 (flal side loward piston)

pision rod

All dsc sizes are in milmeters

example:
"30 x 0.30" is 30mm diameter. 0.30mm thick




VALVING:

480/205 (LINEAR)

REBOUND

M8x1 hex nul: lighten to 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat side toward piston)
13 x 0.50

20 x 0.45

24 x 0.45

30 x 0.45

37.4 x 0.45

COMPRESSION

—
—

/

B46-U37T (see drawings for correct orieniation)

37.4 x 0.45
30 x 0.45

20 x 0.45
13 x 0.50

B46-22 (flat side toward pision)

piston rod

All disc sizes are in millmelers

example:
*30 x 0.30" is 30mm diameter. 0.30mm thick

51



52

VALVING:

520/160 (LINEAR)

REBOUND

M8x1 hex nul: tighten fo 14.5 Nm (125-130 lb/in)

21 x 3.0 (flat side loward piston)
13 x 0.50

20 x 0.45

24 x 0.45

30 x 050

37.4 x 050

COMPRESSION

ausmu'&@

/))I |

%[___,_

i

/)

B46-U37T (see drawings for correct orientation)

37.4 x 0.40
30 x 0.40
24 x 0.45

20 x 0.45
13 x 050

B46-22 (flal side loward piston)

pision rod

All disc sizes are in milimeiers

example:
*30 x 0.30" is 30mm diameier, 0.30mm thick




520/180 (LINEAR)

M8x1 hex nut fighten to 14.5 Nm (125-130 Ib/in)

21 x 3.0 (flat side toward piston)

13 x 0.50
20 x 0.45

24 x 045
___;_f— 30 x 050

374 x 050

VALVING:
)
Z
=)
@]
@
L
14

COMPRESSION

B46-U37T (see drawings for correct orientation)

37.4 x 0.45
30 x 0.45
24 x 0.40

20 x 0.40
13 x 0.50

B46-22 (flat side foward piston)

piston rod

All disc sizes are in milimelers

example:
*30 x 0.30" is 30mm dameter, 0 30mm thick

53



54

VALVING:

520/205 (LINEAR)

M8x1 hex nul tighten to 14.5 Nm (125-130 lo/n)

21 x 3.0 (flat side loward pision)

13 x 0.50
20 x 0.45

24 x 0.45

P 30 x 050

~ ___—— 37.4 x 050

REBOUND

B4B-U37T (see drawings for correcl orieniaiion)

COMPRESSION

T

o ———— 37.4 x 0.45

e 30 x 0.45

PEICTSS |

20 x 0.45
13 x 0.50

B46-22 (flal side toward piston)

\ —_

All disc sizes are in milmeters

example:
"30 x 0.30" s 30mm diameler, 0.30mm thick




VALVING: 588/180 (LINEAR)

M8x1 hex nul: fighten 1o 14.5 Nm (125-130 Ib/ini

21 x 3.0 (flat side loward piston)

\

13 x 050
20 x 050

24 x 050
30 x 0.50
37.4 x 050

REBOUND

B46-U37T (see drawings for correcl orientation)

8 44— —+ 1

37.4 x 0.45
30 x 0.45
24 x 0.40

20 x 0.40
13 x 0.50

il

COMPRESSION

7

B46-22 (flal side toward piston)

pision rod

All disc sizes are in milimelers

example:
*30 x 0.30" is 30mm diometer., 0.30mm thick




56

VALVING:

588/220 (LINEAR)

M8x1 hex nut: lighten to 14.5 Nm (125-130 |b/in)

21 x 3.0 (flat side loward piston)

13 x 0.50
20 x 050

24 x 0.50

37.4 x 0.50

REBOUND

B46-U37T (see drawings for correct orientation)

COMPRESSION

mmr;ufﬁ:@

37.4 x 0.45

e
\_
*% 30 x 045
—\

24 x 0.50

9‘\ 20 x 050
13 x 0.50
= B46-22 (flat side toward piston)

pision rod

All disc sizes are in milimeters

example:
*30 x 0.30° s 30mm diameter, 0.30mm thick




M8x1 hex nutl: lighten to 14.5 Nm (125-130 Ip/in)

21 x 3.0 (flat side toward pision)

13 x 0.50
20 x 0.60

24 x 0.60

27.4 x 0.50

e L 050
e
i
B

B4B-U37T (see drawings for correct orientaiion)

37.4 x 0.45

\ 30 x 0.45

VALVING: 688/180 (LINEAR)

|

L8

|
)
P
3
(@)
na]

Ly |

@ ]

T i

L !

pd !

@ | :
v
LLl
o

-

5

_\-\ 24 x 0.40
g‘\ 20 x 0.40
13 x 0.50

B46-22 (flal side toward pision)

piston rod

All disc sizes are in milimeiers

example:
*30 x 0.30" is 30mm diameter, 0.30mm thick

57



58

VALVING:

REBOUND

6887220 (LINEAR)

30 x 0.50
37.4 x 050

|
21 x 3.0 (flat side toward pision)
13 x 0.50
20 x 0.60

|

1

/— M8x1 hex nul: tighien to 14.5 Nm (125-130 [o/in)
- —
1
I

B4B6-U37T (see drawings for correct orientaiion)

5
1
:

37.4 x 0.45

\—
i T 30 x 0.45

24 x 050

\ 20 x 0.50
13 x 0.50
B46-22 (flal side loward piston)

pision rod

All disc sizes are in milmeters

exampie:
*30 x 0.30" s 30mm diameler, 0.30mm thick




VALVING: 275-10D (DIGRESSIVE)

M8x1 hex nut: lighten to 17.5Nm (150 - 155 Ib/in)

[ 21 x 3.0 (flat side loward piston)
L IA/ 157 A

|
g
/ 36 x 0.50

B46-742A1

(3)

REBOUND

B46-699A

- ——— 28 x 0.5

B46-743B1

‘ ] \)\-
\ 15 x 0.50
15 x 0.50
B46-22 (flat side loward piston)

pision rod

COMPRESSION

All dsc sizes are in milimeters

example:
*36 x 0.50" 15 36mm diameter, 0.50mm thick




60

VALVING: 290-130D (DIGRESSIVE)

\

REBOUND

)
4

M8x1 hex nut: lighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side loward pision)
20 x 0.50

36 x 0.50

B46-742C1
28 x 0.20

B46-693A

28 x 0.20

B46-744A1
36 x 0.40

18 x 0.50
18 x 0.50
B46-22 (flat side loward piston)

piston rod

All disc sizes are in milmeters

example:

6 *36 x 050" s 36mm dameter, 0.50mm thick




VALVING: 300-100D (DIGRESSIVE)
M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)
! 21 x 3.0 (flat side toward piston)
G 155 x 0.50
o
—
36 x 0.60
()]
5 |
3 | | /—— B46-742A1
m I
| = | ]
! B46-6I9A
?) ' \ B46-743C1
% T Y
5 \'
145 x 0.50
14.5 % 050

BUSTEIN (S

0

B46-22 (flat side toward piston)

/

pisten rod

All disc sizes are in milimeters

example
36 x 050" is 36mm diameter, 0.50mm ihick

61



62

REBOUND

]
i

example:

VALVING: 325-110D (DIGRESSIVE)

M8x1 hex nut: lighten lo 17.5Nm (150 - 155 lb/in)

21 x 3.0 (flat side toward piston)
16.5 x 0.50

36 x 0.60

B4B-742A1
28 x 0.10

B46-69SA

28 x 0.15

B46-743B1
36 x 0.35

15 x 0.50
15 x 0.50
B46-22 (flal side toward piston)

piston rod

All disc sizes are in milimelers

§ *36 x 0.50° s 36mm dameler, 0.50mm fihick
(]




VALVING: 325-125D (DIGRESSIVE)

M8x1 hex nul: lighten to 17.5Nm (150 - 155 Ib/in}

21 x 3.0 (flat side toward pision)

|
| / 16.5 x 0.50

|

|
36 x 0.60
B4B-742A1
28 x 0.10

(3)

REBOUND

B46-689A

28 x 0.15

|
X B46-743B1

36 x 0.40

\ 15 x 0.50
15 x 0.50
B46-22 (flal side toward piston)

piston rod

COMPRESSION

All disc sizes are in milmelers

exampie:

” *36 x 050" is 36mm diameter, 0.50mm thick
1




64

VALVING: 345-135D (DIGRESSIVE)

(3)
W\ﬁ

REBOUND

|
/1

M8x1 hex nul: fighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side loward piston)
175 x 050

36 x 0.60

B46-742A1
28 x 0.10

B46-693A

28 x 0.15

B46-743B1
36 x 0.40

15.5 x 0.50
155 % 0.50
B46-22 (flat side toward piston)

piston rod

Al disc sizes are in milmeters

example:

mmsm"—é% L

x 050" is 36mm diameter, 0.50mm thick




VALVING:

REBOUND

COMPRESSION

/

420-140D

\\

\\

\

il
7

(DIGRESSIVE)

M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side toward piston)
16 x 0.50

36 x 0.60
36 x 0.60
B46-742C1

28 x 0.20

B46-699A

28 x 0.30

B46-743A1
36 x 0.50

17 x 0.50
17 x 0.50
B46-22 (flal side toward piston)

piston rod

All disc sizes are in milimelers

example:

*36 x 050" is 36mm dameter, 0.50mm thick

0 |
il

65



66

460-140D

\

A

|

f\

(

VALVING:
@
)
5
: |
m
LU
(2
5
1
n
LL
&
L
o
o

)
4

—

[

9,_

(DIGRESSIVE)

M8x1 hex nul: lighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side toward pision)
17 x 0.50

36 x 0.60
36 x 0.60
B46-742C1

28 x 0.15

B46-698A

28 x 0.30

B46-743A1
36 x 0.50

17 x 0.50
17 x 050
B46-22 (flat side toward piston)

pision rod

All disc sizes are in milimeiers

example:
"36

x 050" is 36mm diameter., 0.50mm thick




VALVING: 480-160D

\

(DIGRESSIVE)

M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side toward piston)
175 x 0.50

36 x 0.60
36 x 0.60
B46-742C1

\\

\

REBOUND

28 x 0.20

B46-693A

|

28 x 0.30

B46-743A1
36 x 0.50

COMPRESSION

/

4l

18 x 0.50
18 x 0.50
B46-22 (flat side toward piston)

piston rod

All disc sizes are in milimelers

example:
36 x 050" is 36mm diameter, 0.50mm ihick

67



68

-

VALVING: 520-160D (DIGRESSIVE)
M8x1 hex nut: lighten to 17.5Nm (150 - 155 Ib/in)
! 21 x 3.0 (flat side toward: pision)
LT A 18 x 0.50
& |
|
| S |
36 x 0.60
]
2 | /_ 36 x 0.60
] ‘ . / B46-742C1
E 28 x 0.15
(nd ——/"_ % :
| s 1
! B46-699A
z i 28 x 0.30
% l \— B46-743A1
% | " SN
5 \

18 x 0.50

18 x 0.50
B46-22 (flal side foward piston)

/

piston rod

All disc sizes are in milimelers

example:
36 x 050" 15 36mm dameier, 0.50mm Ihick




VALVING: 560-160D (DIGRESSIVE)

M8x1 hex nul: tighten to 17.5Nm (150 - 155 Ib/in)

21 x 3.0 (flat side loward piston)
18.5 x 0.50

(3)

36 x 0.60

o
5
(@] l B46-742C1
i 28 x 0.20
v X =
1
B4B-699A
Z 28 x 0.30
ﬁ ‘ B4B-743A1
id 36 x 0.50
% C
o
18 x 0.50
18 x 0.50

B46-22 (flat side toward piston)

piston rod

All dsc sizes are in milmeiers

example:
36 x 050" is 36mm dameter, 0.50mm thick




70

VALVING:

GNA1
540-170

(LINEAR)

M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)
|
[ /j/- 20 x 3.0 |(flat side toward piston)
S R

20 x 0.30

24 x 0.30 —12mm ID
— 28 x 0.30

32 x 0.40

18 x 0.50

[m) /

s

= | ' —/—

51 — __— 36 x 0.40 |

(14

| Il
! B46-U37T. 12mm ID
] (see drawings for correct orientation)

==

& t 37.4 x 0.40

? | : \_ 32 x 0.40

% = =

: \

24 x 030 —12mm ID
20 x 0.30

17 x 0.50

B46-22 |

(flat side loward piston)

piston rod

All disc sizes are in milmeters

example:
*32 x 0.30" is 32mm diameter, 0.30mm f{hick




VALVING: GNAZ2
648-204 (LINEAR)

| M8x1 hex nul: tighten to 17.5Nm (150 - 155 Ib/in)
| j/_ 20 x 3.0 |(flal side toward piston)

18 x 0.50
20 x 0.40
24 x 040 —12mm ID
% 28 x 0.40
é | 32 x 0.40
L 36 x 0.50 |
o

B46-U37T, 12mm ID
(see drawings for correct orientation)

37.4 x 0.40]
32 x 0.40
28 x 0.40

i

- — 24 x 040 |-12mm ID
20 x 0.40
17 x 0.50
B46-22 | (fiat side toward piston)
N
\— _——

All disc sizes are in milimelers

example:
*32 x 0.30" is 32mm diameter, 0.30mm ihick

i

13y
-

BILSTE!




72

VALVING: GNA3
270-104

(LINEAR)

M8x1 hex nul: tighten to 17.5Nm (150 - 155 Ib/in)

al

20 x 3.0 |(flat side toward piston)

'\{\

18 x 0.50
20 x 0.20
24 x 0.20 —12mm ID
28 x 0.20
32 x 0.30

REBOUND

36 x 0.50 |

B46-U37T. 12mm ID

(see drawings for correct orientalion)

T

37.4 x 0.25]

32 x 0.25
28 x 0.30

1

COMPR_EESI_ON
11

=/
I

24 x 030 —12mm ID
20 x 0.30
17 x 050
B46-22 | (flal side toward piston)

——o

/)

piston rod

All disc sizes are in milimeters

example:
*32 x 0.30" is 32mm diameter, 0.30mm thick




VALVING: GNA4
554-147 (LINEAR)

] M8x1 hex nut: lignten to 17.5Nm (150 - 155 Ib/in)
j/ 20 x 3.0 |(flat side toward piston)

18 x 0.50

20 x 0.30

24 x 0.30 —12mm ID

28 x 0.35

32 x 0.40

36 x 0.40 |

REBOUND

B46-U37T, 12mm ID
(see drawings for correct orientation)

37.4 x 0.40

|
\_—
| X— 32 x 0.40
___\\ 28 x 0.20
\ — 24 x 0.20

20 x 0.25
17 x 0.50
B46-22 | (flal side toward piston)

— 12mm D

COMPRESSION

pision rod

All dsc sizes are in milimeters

i example:

*32 x 0.30" is 32mm diameier, 0.30mm thick

73



74

VALVING: GNAB
760-237 (LINEAR)

\

N

)

M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)

20 x 3.0 |(flat side loward piston)
18 x 0.50
20 x 0.45
24 x 0.40 —12mm ID
28 x 0.40
32 x 0.45
36 x 0.50 |

e_

R

COMPRESSION

y

B46-U37T, 12mm ID
(see drawings for correct orientation)

37.4 x 0.40]
32 x 0.40
28 x 0.40
24 x 040 ~12mm ID
20 x 0.40
18 x 0.50
B46-22 | (flal side toward piston)

piston rod

All disc sizes are in milimeters

example:
*32 x 0.30" is 32mm diameter, 0.30mm thick




VALVING: GNAS

REBOUND

398-143

(LINEAR)

M8x1 hex nut: fighten to 17.5Nm (150 - 155 Ib/in)

20 x 3.0 |(flat side loward piston)

17 x 0.50
20 x 0.25
24 x 0.30
28 x 0.30
32 x 0.35

— 12mm 1D

36 x 0.40

B46-U37T. 12mm ID

(see drawings for correct orieniation)

COMPRESSION

/

LI

37.4 x 0.40]

32 x 0.40
28 x 0.30

i

24 x 0.25
20 x 0.25
15 x 0.50
B46-22

— 12mm D

j

| (flat side toward piston)

piston rod

All disc sizes are in milimeters

example:

*32 x 0.30" is 32mm diameter, 0.30mm thick

75



76

(LINEAR)

M8x1 hex nut: tighten to 17.5Nm (150 - 155 Ib/in)

|
= 21 x 3.0 (flat side toward piston)
x_0.50
l / X

)

(see drawings for correct orientaiion)

VALVING:
)
s
S l
@
L
14
fo
7]
7
m |
14
o
o
O

i

x 0.50
B46-22 (flal side toward piston)

pision rod

All disc sizes are in milimeters

example:
*32 x 0.30° is 32mm diameier, 0.30mm thick




(DIGRESSIVE)

M8x1 hex nut: lighten to 17.5Nm (150 - 155 Ib/in)

B46-

'L 21 x 3.0 (flat side loward piston)
| x_0.50
|
[ 36 X
/— 20 _x

B46-698A

28 x

VALVING:
@
=)
=
2|
o
i
2
o
1
0
|
i
o
o
o

\\J\ 36 X
\ x 0.50
x 0.50
B46-22 (flatl side toward piston)

e

piston rod

All disc sizes are n milimeters

example.
‘36 x 050° is 36mm diameler, 0.50mm Ihick




OIL VOLUME FOR MOTORSPORTS SHOCKS

1. B46-0201 - 239 cm™* (5 in.)
(B46-0204)*

2. B46-0202 - 272 cm™* (6 in.)
(B46-0205)*

3. B46-0210 - 305 cm™* (7 in.)
(B46-0211)*

4.  B46-0203 - 320 cm®™* (8 in.)
(B46-0206)*

5. B46-0209 - 320 cm™>* (8 in.)

6. B46-GNTF1-19 - 320 cm®™* (8 in.)
7. B46-GNTR2-8 - 320 cm®** (8 in.)
8. B46-0207 - 369 cm3** (9 in.)

9. B46-DTA / LTA5 - 239 cm™* (5 in.)
10. B46-DTA/LTA6 - 272 cm®™* (6 in.)
11. B46-DTA/LTA7 - 305 cm™* (7 in.)
12. B46-DTA/LTA8 - 320 cm®™* (8 in.)
13. B46-DTA/LTA9 - 369 cm** (9 in.)
14. B46-ATADS - 239 cm®* (5 in.)

15. B46-ATAD7 - 305 cm®* (7 in.)

16. B46-ATAD9 - 369 cm™* (9 in.)

17. B46-60BG8 - 390 cm™* (8 in.)

* Denotes Threaded Body version
* om?® = cc or ml (fluid measurement)



